Notice that the picture to the right changes. The new figure indicates that
now both global input as well as the local value are combined using a single
operator, labelled “Operator 1”. This operator should already be a product
operator.

So why then did we not do anything with the algorithm and operator in the
“Number of chocolate bars” node? Because independent nodes by definition
use “Local only” as algorithm. Since DynRisk knows this, we do not have to
specify anything.

Now everything is right so we click the “OK”-button.



